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B.Tech 1st Semester Exam., 2019
(New Course)

PROGRAMMING FOR PROBLEM SOLVING

Time : 3 hours Full Marks : 70

Instructions :
(i) All questions carry equal marks.
(i) There are NINE questions in this paper.

(i} Attempt FIVE questions in all.
(iv) Question No. 1 is compulsory.

1. Choose the correct answer from any seven of the

following :
an integer which can take a value of

The statement if (x =0)x= 1; else

(aj Letxbe
hich one of the

0 or l.
x =0; is equivalent to W
following?

i x=1-x

fii] x=x+1

fif) x =xx*1

fiv) x=1%x

(2)

(b)) A program attempts to generate as many

fc)

(d) Whatis the output of th

20AK /280

permutations 88 Possible of the string, ‘abed’
by pushing the characters g, b, ¢, d in the
same order onto a stack, but it may pop off
the top character at any time. Which one of
the following strings cannot be generated

using this program?
{f) abed

(it) cabd

Suppose a C program has floating constant
1-414, what is the best way to convert this
~float” data type?

fi) (foat)l-414

(iij Float (1-414)

fiiy 1-414f or 1-414F
j 1-414 itsell of “float” data type, ie.,

w, ,
nothing else required
e following program?

fii) dcba
i) cbad

void main{}{
int a;
a=1;
while(a<=1)
iffa%?2)
printf[*%d", a++);
else
printf(*%d", ++a);
printf{"%d", a+10);
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i) 011
(i} 012
fii) 111
{iv) 112
What is the output of this C code?
#include<stdio.h>
void main()

{

fe)

int a =5+3+2-4;
printf("%d", a);
]
iy 13
fiti) 12

fii) 14
fiv) 16

() What is the output of this C code?

#include<stdio.h>
void main(})

{
int b=26;

inte =7,
inta=++b+c—=

printf("%d", a);
}
fy Run-time error
(i) 15
(i) 13
fiv) 14

{ Turn Over }

{9

h)

()
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(4)

What is the output of this C code?
sinclude<stdio h> '
void foo{int’ );
int main{}

[
L

inti=10;
fﬂu{[&i}++] ;
)
void foofint " g
{
Frintf{'%d\n-i * ﬂ;
}
fi) 10
(i) some garbage value
(iir) compile-time error
(iv) segmentation fault/code crash

User-defined data type can be derived by
fij struct

{fij) enum

fiii} typedefl

fiy) All of the above

hich of the

As per C language standard. W
p s Pick the

following isfarc not keyword(s)?
best statement :
auto, make, main, sizeof, elscil

iy make, main
{ Continued )
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(5 )

fup sizeof
{11_’] auto, make

fr) make, main, elseif

) What is the output of this C code (when 1 is
U tnl:‘rl‘:d]g

#include<stdioh>
void mam(|]

duublﬂ Ch:
printl {‘enter a value

between 1 to 277\
sfaﬂﬂ'bfblr| &Ch];
switch (ch)

case 1:
print{("17);
break;

case 2:
printf{"2°);
break;

!
(1) Compile-time error
fii} 1
(i) 2
fiv] None of the abcvg
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(6

What do you mean

Pre.
the use of %i formg DES
function,

Write a C program to pe
Orm bin
sel of given sorted Mimberg. MArY search o g

Write o © program to find e
umhb . .
text file, er of lines in a

Explain pointer arithmetic with the help of
suitable diagrams.

Explain the following bitwise operators .
(a) Bitwise AND

(b} Bitwise OR

(¢) Bitwisc XOR

(d) Bitwise Left Shift

What do you mean by ‘call by reference’? Explain
with the help of a function which swaps two
numbers,

\/B,« Write a C program of the following :

(a) Reverse a string without using strrey

ot using sz
(b} Concatenate two strings without using
strcat()
o

o«
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(7))

g Wﬁ“",a z‘rccuraivc' C program 1o
l[g“.ﬂmng "

\/El] GCD of two numbers

PNt the

(b) ‘Merge-sort of a set of given Numbers

* k%
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